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N mXHER

This study aims to conduct performance tests on domestically
produced vanadium electrolytes and commercial electrolytes for flow
batteries, focusing on the electrolyte used in flow batteries. Two types
of domestically produced electrolytes and two types of commercial
electrolytes will be selected for comparison in testing the performance
of the electrolyte in flow battery modules. Three types of flow battery
modules, including experimental single cells, experimental cell stacks,
and commercial battery packs, will be used to test the electrolyte
characteristics and stability. Five current densities will be tested with
10 cycles of charge and discharge for each, and the optimal current
density will be determined for further stability testing of the
electrolyte with 200 cycles of charge and discharge. This will verify
the loss of the electrolyte after long-term use. Finally, the vanadium
electrolyte will be re-mixed after use and undergo another 200 cycles
of charge and discharge to test the stability of the electrolyte under

actual field conditions.

Keyword: Vanadium Redox Battery, Vanadium Electrolyte
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